Тангенс.
program FUN;                                                                  
uses crt;                                                                     
var x,y:real;                                                                 
    function tan(c:real):real;                                                
    begin                                                                     
       tan:=sin(c)/cos(c);                                                    
    end;                                                                      
begin                                                                         
    clrscr;textcolor(5);                                                      
    writeln('x=');readln(x);                                                  
    writeln('y=');readln(y);                                                  
    writeln('tg(',x:1:2,')=',tan(x):1:2);                                     
    writeln('tg(',y:1:2,')=',tan(y):1:2);                                     
    readkey;                                                                  
end.
Число сочетаний без повторений.

program ChisloSochetan;                                                       
uses crt;                                                                     
var n,k:integer;a1,a2,a3,c:longint;                                           
    function factorial(n:integer):longint;                                    
    var i:integer; rez:longint;                                               
    begin                                                                     
       rez:=1;                                                                
       for i:=1 to n do rez:=rez*i;                                           
       factorial:=rez;                                                        
    end;                                                                      
begin                                                                         
    clrscr;textcolor(5);                                                      
    writeln('n=');readln(n);       writeln('k=');readln(k);                   
    a1:=factorial(n); a2:=factorial(k); a3:=factorial(n-k);                   
    c:=a1 div (a2*a3);                                                        
    writeln('c=',c, '  ', a1:5, a2:5, a3:5);                                  
    readkey;                                                                  
end.                                                                          
